Name:_________________

Populations Notes 2

Biodiversity

All these things & more can affect the biodiversity of an area.

________________(population is reproducing naturally) 

_________(population is struggling to reproduce)

_____________(population numbers are declining)

________________(without help the population will become extinct)

________________(population is gone from earth)

The cow bird & the Kirtland’s Warbler
There is a bird in upper Michigan (______________________) called the __________

_____________________.

The cow bird lays it’s eggs in the warbler nest & the cow bird babies are much larger than the warbler when they hatch.  The cow bird kicks the warbler babies out of the nest.

-The Kirtland’s Warbler is_____________________.

Various biodiversity

Biodiversity varies in different places on earth.

Example-

.

The problem comes in when one rain forest has less biodiversity than another

Causes of extinction

________________________ can threaten populations on earth.

__________________________________________________________ can all destroy 
the biodiversity of an area.

Overpopulation

What about a population that is overpopulated?  This can also be a big problem….

What should we as humans do then?

Example:  

What should we do?

What should we (humans) do as the world’s populations reach critical levels?

What if we interfere in nature’s course?

What if we take no action to help our world?

Conservation

Because we have destroyed most of our natural environment, humans have a responsibility to help protect what is left.

1.  

2.  

3.  

Population growth

THERE ARE 2 MAIN TYPES OF POPULATION GROWTH

1.  ___________________________(The population size gets bigger and bigger as time goes by)

2.  ___________________________  (Populations hit a CARRYING CAPACITY because of LIMITING FACTORS)
Exponential (unlimited) growth

HUMANS ARE GROWING EXPONENTIALLY 

*Also known as a 
“J curve”

There is nothing to 
stop the population 
from growing.

Natural growth

Populations hit a CARRYING CAPACITY in their population growth after exponentially growing.  This means their population cannot keep growing 


forever.

Carrying Capacity

Carrying capacity == 
***this is predetermined by the area and resources available in that area***

Populations cannot have unlimited exponential growth because they have LIMITING FACTORS.

